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Assistant Professor Exam - 2017

(Final Answer Key)

Commerce
Q.No: 1 The time duration of Fourth Five Year Plan in our country was 3 = A a@zfu'aaﬁq T Bt Tamary o
A 1966-1971 1966-1971
B 1969-1974 1969-1974
c 1970-1975 1970-1975
D 1967-1972 1967-1972
Q.No: 2 The prime objective of economic activities is : i fepamait &1 H?[B%‘EZH 7
A Political Advantage IeTAfAE dH
B Environment Improvement afarr gUR
(o} Profit Earning Gt
D Social Development e fae
Q.No: 3 'Life Expectancy’ term is used for: e TR XMeg T T BT 8 -
A Standard of living EICERSTH
B Poverty frefear
C Income S
D Age 39
Q.No: 4 Mixed Economy is termed as co-existence of the following: i3 srforawn m%w-maﬁm SITdT % :
A Public, private and cooperative sectors W, 3rele 3R YepR &
B Public and cooperative sectors e 3R JEPRT &
C Private and Joint sectors D IR TYH &
D Agricultural and industrial sectors Py iR sheifirs g=
Q.No: 5 Which of the following is not a market-environment issue? 9 & $H 1 IIR-TAR g1 T 2
A Customer's Analysis eS| PT fazawor
B Market Intermediary Analysis TOIR Jrdal fazawor
(o) Environmental Protection Analysis TYTaROT WREIOT faRayor
D Competitors Analysis ufergsff fawdwor
Q.No: 6 Dispute Redressal Mechanism is tier in Consumer Protection Act IuHTeT TReur g H faare Raro o i Bl



| A | One | L

B Two &

D Four IR

Q.No: 7 Which of the following was privatised first? Fufafea # ¥ wduuw feger s gon 2
A MTNL Wi

C BSNL fwmE T

D Bharat Aluminum Corporation Limited YRA YegHifam sivuiee s

Q.No: 8 Tendulkar Committee is concerned with dgaa= afifa ... JTERT R |

Cricket fpde

Export Promotion frafa q@sda

Fiscal Policy Reforms ISR i gurR
Q.No: 9 FEMA was implemented in the year in India T YR H ¥ & ar fasan |
A 1998 1998

C 2001 2001

2008 2008
Q.No: 10 Bharat Sanchar Nigam limited was set up in year .......... under the new telecom policy. URA HOR A faffes &) 7dF ruar Hifa & s ... af § w1 foar mar ot
A 1980 1980
C 2011 2011

1985 1985

Q.No: 11 Liberalisation does not include: IRt § givferd TS |
A Liberalisation of economic policies 3ffer feral @1 Setevor
B Encouragement of competition yfagifirar &t e
C Development of financial market fo<ita IRt &1 faer™y

Q.No: 12

If sales is Rs. 8,00,000, cost of sales is Rs. 4,80,000 and indirect expenses is Rs. 1,20,000, then the net profit
ratio will be:

3R fasha ¥ 8,00,000 , f3sha AN ¥ 4,80,000 R Wi& & ¥ 1,20,000 B, Y& ATY AT SR :




A 15% 15 yfasra
B 20% 20 yfe=a
c 25% 25 wfe=a
D 30% 30 ufo=ra
Q.No: 13 Ideal current ratio is : e Td Mﬁqﬁ% :
A 1:1 1:1
B 2:1 2:1
C 1:2 1:2
D 1:3 1:3
Q.No: 14 Ideal acid test ratio is : SHTeRT 3 Tiefu U B
A 2:1 2:1
B 1:1 1:1
C 1:3 1:3
D 3:1 3:1
Given
2014(Rs.) 2015(Rs.) e 2 — 2014 (%) 2015 (%)
QNo: 15| Cumenticblites 60000 400000 ki s
s T EEEIE 3,60,000 400,000
The decrease in working capital will be Rs. PR T AR Z o &l |
A 1,20,000 1,20,000
B 2,20,000 2,20,000
c 3,20,000 3,20,000
D 20,000 20,000
Q.No: 16 Working capital of previous year and current year are Rs.50,000 and Rs. 60,000 respectively, then the amount q 99 iR a@aﬁaﬁamhﬂa%ﬁ HH: 3(-) 50,000 IR 60,000 ar , ﬁWﬂﬁﬁjrﬁ ¥ ufeadT it iy & -

of change in the working capital will be:

A Increase of Rs.10,000 % 10,000 @1 qf%
B Decrease of Rs.10,000 ¥ 10,000 & HH
c Increase of Rs.1,10,000 ¥ 1,10,000 & gfey
D Decrease of Rs.1,10,000 ¥ 1,10,000 Ft FHHt

Q.No: 17 According to “A Plan is a trap laid to capture the future” F IR AT Ufds &Y yses & g s T fioRT 8
A Harley

]
B Newman 7’-]33?



C Terry &

Q.No: 18 BIFR was established on the basis of recommendations of........ committee. o 3MTE UF 3R & /T ... giafa & Rl & snuR R ot 78 Rt
A Goswami Tt

B Manmohan singh THEA Rig

C Rangarajan TR

Q.No: 19 If current ratio is 1.75:1, working capital Rs. 1,12,500 and stock Rs. 82,500, then Acid test ratio will be:

I a1 3FUId 1.75 @ 1, SIS Goit 1,12,500 T T1 I6far 82,500 F & & S TAefor Surd 8T -

2.9:1 2.9:1
2.2:1 2.2:1
1.7:1 1.7:1
Q.No: 20 Budget is prepared before production Budget. ToIC Bl IATE Svic I Uga ST ST § |

B Master HECY
C Material i
D Labor L)

Q.No: 21 The definition of 'Wantlessness’ in economics was given by ..........cccccccevees

A Marshall

C A.C. Pigou

D P. Samuelsan

Q.No: 22  Welfare oriented definition of economics has been given by .........cccccvveuenes

SR B "Bear ST TR ... FERIATER |

Adam smith weH Ry
Robbins RUCE:
A.C.Pigou .3t iy
Q.No: 23 'In market condition, the demand of commodity is completely elastic. TR & ...... 3} fRufa & aeg &) A gofaar AR i 21

Monopoly

| C | Imperfect competitor



3ot wferatfrar

D Oligopoly SMIPR

Q.No: 24 The supporter of mixed economy was: ity srfooaen & gude o
A Karl Marx Eackice]

B Adam smith Ten Ry

D Marshall ar=fa

Q.No: 25 Elasticity of demand is .......ccccoeeneerreene. TIHATR ...

A Qualitative statement MUTHD YT

C Both (Qualitative & Quantitative statements) HT (AU 3R IRHEUITE HU)
D None of these ®Ig Tl TE
Q.No: 26 The limits of karl Pearson’s correlation coefficient value are: FTet R TEey e A B 9 3

B +2 +2
C +3 +3
D +4 +4

Q.No: 27 In a correlation study the results were: Fxy=40, N=100, ¥ x* =80, Jy*=20.The correlation coefficient will be:

TS TEHSY eI H UROM & ¢ Fxy=40, N=100, T x? = 80, Fy?=20. TEEEH Ui AT

A -1.0 -1.0
B [} 0
D 0.92 0.92

Q.No: 28 The formula for the rank correlation coefficient is:

3 6Td?
TNWNEI-1)
i 6Td? 4 6Yd?
B T N(NZ+1) TNWIEY)
c 1— 6¥d? 1- 65d?
N N
1+ 65d? 14 6¥d?
D T T NT




Q.No: 29  Which of the following is not a source of secondary data?

g ¥ 3 o1 w1 fgdue wHe! &1 Hid 7 g 2

A Newspaper

HHNR 93

B Website

ECnIErS

D Journals and magazines wa 3R ufeT
Q.No: 30 Which of the following is not a valid characteristic of normal distribution? g d @ oF @ g §ed 31 3y fAdvar e R |
A Bell shaped HeTHR
C Mesokurtic Ty TR/
D All are correct Tt adt &
Q.No: 31 The concept of bounded rationality has been given by ......... in Decision Making. Fofem & afvdiftrg fadedr &t sraurom ... PR
A Daver SR
B Drucker g
D Allen LGEl
Q.No: 32 Regression coefficient of X on Y will be: T &1 ?ﬂ’sf TR YT RiNica g
A e s
ox ox
(a’x)z (a’x =
B Bl i
sy sy
2
C r (ﬂ ] (ﬂ
TX. TFX.

Q.No: 33 If the regression coefficients are -0.8 and -0.2 then the value of correlation coefficient will be:

Ife; & UATTE T -0.8 3TR -0.2 B A UgweY TUiS T 8N

+0.4 +0.4
-0.16 -0.16
+0.16 +0.16

|Q.No: 34 |The word regression in statistics was first used by

it 3 T e 1 T ...... 3 W R |



Bowley

Karl Pearson

mﬁﬁmﬂh

Roberts

Q.No: 35

For testing independence of two attributes, which of the following tests is used?

31 01 B Wl B Ter 3 H § H A1 Iheor BT T e o § 2

Z Test

S wteror

There is full employment in India

F Test T Teor
D T Test & wdtgror
Q.No: 36 The need of efficient professional management is high in India because: URA § H@ IR T B 31 saRaemdr 8 T
A Indian economy is developed YRt erfeqawt il @
B Indian productive efficiency is high YR IATeP &Har alﬁrcﬁ%

e & uf AR 3

Q.No: 37

concept is not associated with scientific management

....... sﬁm%ﬂﬁwmﬁﬁéﬁaqﬁél

Mental revolution

Time and motion study I T4 afa srema
Method study ugfa sremg
Q.No: 38 Grape -vine communication is : ‘}U-aﬁﬂw% :

Formal

Upward

Downward Sﬁ'ﬂ'lTTﬂ’T
Q.No: 39 Which one of the following is not a technique of class-room training? 9 & F P T1 Per uiiemr ) db-ie el 87
A Lecture qrE
B Group Discussion g famst

Case study fRufa srema=t (W '\Eﬁ)

Q.No: 40

ZBB was first used in 1962 in the country

S off off Tduum 1962 F ... 3= H vERT fbar T |




B

UK g&
Germany wrft
Japan S
Q.No: 41 Free-rein leadership means: o Aqd (W1 )T ded §:
A Centralised power Ffipa SiferR
B Shrinked responsibility PR SReRE
D Less competent subordinates B Y| HHART
Q.No: 42 Concurrent control occurs when an activity is : Tt g IO BT § o DY fobar
A Completed qof &) et
B Being planned ot S T @
D None of these T8 | B T
Q.No: 43 Which of the following is not an ethical conduct for professional managers? IR TeD! &g FE F § HH 1 s TaeR T T ?
A Listen and learn g SR g
C Respect of seniors af¥gl &1 W=
Maintain the reputation of organisation WM & T 6T ¢ IGHT
Q.No: 44 Which of the following is not a example of derivatives? Feddsqar Ggiﬁ " T ITERI e &7
A Options fawe
B Futures qrIaar
D Swaps m(ﬁ'ﬂ’l)
Q.No: 45 Balance of trade receivables is not affected by the following: AMNR ?@"H T B A B I yHIfad 7{31’ E2G) % ?
A Level of scales faspa &1 wR

H

Credit terms | B A
Collection policy e ifa

Q.No: 46 Which of the following is not a determinant of dividend policy? g & BF T A Hfa o1 PuRe T8 R




C

A Legal provisions EaegiRichiE]
I T

Business cycle

Retention policy

ufaemor Hifq

Q.No: 47 Which one of the following is not U Shaped curve? Frofifed & fhae o SRSt 1eR g e &1 T g €
A AVC Tdt i
C MC @
All of the these [l Tt @
Q.No: 48 The term ‘person’ includes as per Income Tax Law. SIHR fIUH F SFER AT Tg H ... gfefera ®
A An individual T Afe
B A HUF T fog sifawfom aiar
C A company TP HUAT

Q.No: 49

P/V ratio =

$-V

Q.No: 50 Skimming pricing is WBWW% -

A Very cheap dgd 9l

C Pricing as per market TER & ST T

D None of these %ﬂﬁﬁﬂﬂiqﬁ

Q.No: 51  Which of the following is/are example/examples of direct marketing? 9§ 3 P 1 Y fuuE &1 IaeRu g ?
A Kiosk Marketing fraRe fauorm

B Tele Marketing R fagus

C Catalogue Marketing GCILERCLLE




Q.No: 52

Marketing is a process which starts

production

Just after dhTel g=dATd
Along with Y- |91y
Much after ggd aIg |

Q.No: 53 NAV and AMC are mainly applicable for W TR IR T R g ... % fom wged g 31
Stock Exchange =y fafmg
Cooperative Institutions TEPRT TR
Banks &

Q.No: 54

Monetary policy is prepared and declared by

Tfges A &1 Fwfor wd giwor ... ERIPT SR |

Govt. of India

HRAd PR

H

State Govt. oY AXPR
SBI & omg
Q.No: 55 Computerisation in banks was started mainly on the recommendation of committee Yot & IR T wfafa &t degfa R foar ma |
A Narasimhan ENTEE]
B Chore R
D Tandon @84
Q.No: 56 regulates Regional Rural Banks in India URd § &g grfior St 1 e RG]
A SBI SBI
B PNB PNB
D IDBI IDBI
Q.No: 57 Which of the following is incorrect for material variances? Iyt faeRon= & forg g & @ oF W1 N 82
A MCV = (SQ X SP) - (AQ X AP) MCV = (SQ X SP) - (AQ X AP)
B MPV = AQ(SP - AP) MPV = AQ(SP - AP)




| D | MYV = SC per unit (AY - SY) | MYV = SC per unit (AY - SY)
Q.No: 58 Kirk Patrick's four — level evaluation model includes the following - d Iee & IR W geuie Aed o IffE § -
A Knowledge I
B Development m
Satisfaction

Q.No: 59 ___ was the first development bank of our country. 3T I BT YU BT & o |
A IDBI s St ot og
B SIDBI st

ICICI 3ms ot amg <t e

Q.No: 60

One rupee note in India is signed by

HRA H T F0 &1 Al TR GeRd BT R |

Reserve Bank Governor

Finance Minister

frrd §& TR

Chairman of SBI gt ené & e
Q.No: 61 Reason(s) for the fast growth of multinational corporations in the world is/are: fay & sgugra Frmt & g T & IR T -
A R&D 3R TUs
B Technological Superiority qb-ie! Jgar
C International Image SR By

Q.No: 62  Purchasing Power Parity theory was propounded by Gustav Cassele in year ............ TReTd HOd & gRT HT e qHaT Rieaid av ... o yfoufea gen
B 1923 1923

C 1921 1921

D 1924 1924

Q.No: 63 Correct serial of head of income in Income Tax Law is : g’ fauM # 3y & el o1 9el HA S |

A Salary, capital gain, house property qa-, \jﬁﬂ?l'l‘ll, e g

B House property, salary, capital gain & FWid, a7, geftary

D Capital gain, business, other sources ljﬁﬂ?l'm , oAd9d, 3 H1YT



Q.No: 64 Tax is not valid. W JYTER
Planning o=
Avoidance o
Management LCR
Q.No: 65 Certain donations are deductible from GTI under section of Income Tax Act SRR AT BT 4Ry % ald $B g N & o A FEN AT AR |
B 80D 80 &t
C 80C 80 Ht
D None of these T @ B T8l
Q.No: 66 An assesse resides in his own house the valuation of which is Rs.50 lakh and fair rent is Rs. 1 Lakh p.a. Annual TP RGN WY & @I a1 AP B I8dT § T 49 ¥ 50 TR 3R I 6 ¥ 1 T aiies 81 A6H o1 aiye ged
e value of house for the purpose of income tax will be: TR & Ied U BTl
A Rs. 50 Lakh ¥ 50 91
B Rs. 5 Lakh ¥ 5 g
C Rs. 1 Lakh ¥ 199

Q.No: 67 Which of the following is not a head of income under Income Tax Act? g & B 1 3R Ty & el oy &1 e e ® ?

A Salaries qaq

C Income from other sources 3 e | g

D Capital gains Ul @ty

Q.No: 68 While recruiting, employer promotes brand image of organization, which is called e wrd 9w, AT gRT @16 &1 108 B3 61 TER Bl e ¢ |

B Employee branding HHARY FIvET

C Organisation branding TS FfoET

D Manpower planning =9 wfe e

Q.No: 69 All stake holders evaluating performance of an employee is called degree appraisal. T HHAR F iy 1 @ fRaefal grr geatea 3R] YT HEaT & |
A 45 45

B 90 90

C 180 180




Q.No: 70 Another name of Industrial Democracy is 3N vt &7 FUNEIE] %
Collective bargaining e didaroit
Social security ArTRIE FRET
None of these Eﬂﬁﬁﬂﬁéﬂﬁ |
Q.No: 71 What is the minimum bonus as per Bonus Act. 9 AT & SR FAaH S99 fa 82

9.33% 9.33 fasa

7.33% 7.33 yfazra

None of these ﬁﬁﬁﬁéqﬁ
Q.No: 72 The full form of ESOP is Employee plan. g w9 3 i &1 Q1 ¥U T Wi g 31
A Skill option f&ra sifwr=
B Stock option wie e

D Skill Ownership f&ra sl

Q.No: 73 Job enrichment is FTf gfegeRor §

A Moving to another job with same skill set AT PRACAT ﬂ]ﬁﬁ P & S
B Promotion LCiE T

C Transfer V=R

Q.No: 74 method of performance appraisal uses incidents pertaining to the job.

fAwTes geae Bt faftr ot & weiferd wremalt &1y et 71

A Questionnaire

C Essay

PEICK]

i

D Grading

it

Q.No: 75 Formal and detailed analysis of job is called

S & N 3R faga fIAwor &) Fat S & .

Performance appraisal

fFrfRy geaies

Job rotation

P AT




| D | Point method

Fo Rfu

Q.No: 76 Accounting standard - 19 (AS - 19) relates to

AGih UHTT-19 BT Goief fbed

Discontinued operations d¢ @1 TS fpareit &
Intangible assets 3nyd gl |
EPS BRG]
Q.No: 77 Full form of FIPB is Foreign Investment Board. FIPB &1 X1 ¥ Foreign Investment Board &
A Packing Packing
B Public Public
D Private Private
Q.No: 78 Recent trend(s) in foreign trade of India is/are : URA % o=l TR &t 7= vgfa 8/ vafoat &:
A Increase in volume of trade YR $t 7461 & gy
B Changing composition of trade R $T W1 § uRad=
C Multidimensional trade TIHTATH AR

Q.No: 79 IRR technique is used for.........

A Dividend decisions iz fofg
B Cost of capital Pikakinc)
C Venture capital S geft

Q.No: 80 Which of the following is not a method of Foreign Exchange? g 7 3 o a1 faesh g S i = R 2
A Bill of Exchange fafoma faa
B Letter of Credit e uq

D Telegraphic Transfer

Q.No: 81 The General Agreement of Tarriffs and Trade was replaced by

UReH Td AR TR W GO B ER1 ufarafie faar m |

MTA MTA
IBRD IBRD
IMF IMF




Q.No: 82

o 0O w

.No: 83

.No: 84

O 0 @ > 0

.No: 85

O 0o W >» O

.No: 86

O 0o w p O

.No: 87

O 0w > 0

Main Components of foreign currency reserve of our country are:
Foreign currency and gold with RBI

Gold reserves with government

Deposits with SBI

Assets of EXIM bank

Which of the following step should be beneficiary in correcting disequilibrium of balance of payment?

Over-valuation of currency
Devaluation of currency
Demonitisation of currency

No monetary change

Head Quarters of IMF is situated in
Geneva

Paris

Manila

Washington D.C

International Finance Corporation was established for the promotion of
Public Sector

Private sector Investments

Financing of Government projects

Joint sector projects investment

Share Allotment Account is a -
Personal Account

Nominal Account

Real Account

Impersonal Account

Which document is not considered in 'KYC' norms?
Driving License

PAN card

Pension payment order

Bill of Exchange

ST R H AR ot YR F T Ueh § -
.. og & urw fag=it ger va ot
WHR & U wof HsR

o &t 3 & U S

iR S ¥t uRmfaat

Foffed & § YT Igad 31 SRl § GUR 8 $H 91 Hed aHERY T ?
5T BT Sfrgea

TSI BT ST

a1 1 fagsievo

PIE wifsw ufvaed= T8t

IETHUG S UYASATm_ HfR@zgI
ST

Liis:|

Tt

giRkiTe S,

SR A S RO S uEEA g B R A
e &

3l &= fafranT

WP yRAeI3 F1 famaior

Hga &7 ufarsrel # fafrr

iR @
AT U BT @TelT
qRAfd® @rar
SreafRTTa Qe

¥ g T AFESt § B 1 Torg e e 82
EIHEURC IR

T

UL A e

fafraw faa



Q.No: 88

O 0w

.No: 89

O 0O ™ >» O

.No: 90

O 60O ®m >» O

.No: 91

Q.No: 92

o 0O w

Q.No: 93

O 0 w

Staff function are those which ........

Do not have direct responsibility for accomplishing the objectives of the organization

Are secondary in character
Are of advisory character

All are correct

H. Fayol has propounded
5

11

14

16

principles of management.

"Shop Management" book published in the year 1903 has been written by
H. Fayol

William M.Fox

F.W.Taylor

H.Simon

According to Taylor, which of the following are related to functional organisation ?

Gang Boss, Repair Boss and General Manager
Inspector, Routine Clerk and General Manager
Repair Boss and Foreman

Routine Clerk, Speed Boss and Inspector

X and Y Theory of Motivation was propounded by
Mcgregor

Herzberg

Ouchi

Maslow

Firms more desperately look for ways and means to defend market share in-
Maturity stage of product life cycle

Growth stage of product life cycle

Decline stage of product life cycle

All are correct

TS & IEGT B R B & RNY Yegere: Iwardt 76l g
o1 7T Bt uBfa F R

wR=ierft wpfa & 31

w+ft wet B

wE. Hdld A g & fRrgr=t &1 ufure= e 1
5
11
14
16

"iTg Afoie” g S 1903 H UHRM g P AGS g
wa. o

faferaw T wrew

TP Sy, SR

Td. |HIgHT

TR F AR frares Tew ¥ g § ¥ o JEhd 82
el TS, SviTgRAa® 3R wemay®

Frfters, wriwy fafte ok wemEy®s
SivlfERATa® quT BRAAT

FrdwH fafte, afoame ok Fitere

SHFADROT & T T a18 RigTd &1 UfaureA J fpan
AHIR

goiaT

TS

Tt

o} ol PRI U & IR & oo R s & forw et qut ARie! Y S 3-

IIG SHa Tsh BT TRUSAT R
Id1G St I FT [Tor 'R
IaTe Sftae Ik HT gedr gl &R
TR wEr g



Q.No: 94 Which of the following falls under the secondary market?

O 0o w

.No: 95

O 0 ®m > 0O

.No: 96

O 0O ®m >» O

.No: 97

Q.No: 98

O 0O w »

Q.No: 99
A
B

Initial public offerings (IPO)
National Stock Exchange (NSE)

Issue of new securities with the help of underwriters

None of these

Hierarchy of needs theory of motivation was developed by

Mcgregor
Mcduglos
Herzberg

A.H.Maslow

Which one of the following is not included in the category of non-probability sampling?

Snow ball sampling

frofafed & 9 frae! fidios SoR & sfaid <nfir forar S &
3ms W aft

P Wy faufor

SPUS! 3t e | T ufayfoat o1 fFrfas

T | B¢ T

SHTRTT & SIRIH B UGIIHHA & NI BT ufure faar mar
AFIR

TSI

gt

T. T9. AR

Fofifed 7 @ fhge! srmifyar e & gf@fem 7€ fear sirare
6 < frezi=

Convenience sampling gl fex

Simple random sampling I foA T W WA (random) feRiA

Purposive sampling Iexayul ez

Random sampling is also known as g e o 2t FgT ST B

Cluster sampling Wﬁ?&h

Census sampling T fRreRfa

Probability sampling wiwar Fe=i=

Deliberate sampling TR fresia
RankX | & 3 4 8 2 10 RankX | 5 3 4 8 2 1 10
RankY | 3 7 5 9 2 10 RankY | 3 7 5 9 2 4 10

In this the value of rank correlation coefficient will be Eﬂf{?ﬁlﬁ R EREE] thﬂ’—[ BN

+0.52 +0.52

+0.62 +0.62

+0.42 +0.42

+0.72 +0.72

ABC analysis is the popular technique of 3 § 9 fazemo EaksicaituieciREd]

Inventory Control Yefaar faa=rr

Chi-Square test

PIS T Yeqor




Monopsony

F test

Q.No: 100 Committees are constituted

A

B
C
D

Q.No: 101

O 0w

Q.No: 102

O 0 w

Q.No: 103

O 0w

Q.No: 104

O 0O w

Q.No: 105

For a purpose which is temporary in nature

For a purpose which is permanent in nature

Both (For a purpose which is temporary in nature) & (For a purpose which is permanent in nature)

None of these

Holistic marketing is an approach to marketing that includes
Integrated marketing

Social responsibility marketing

Relationship marketing

All are correct

Succession planning is more relevant to -
Top level management

Middle level management

Lower level management

All are correct

As per section 55 of Companies Act 2013, the redemption of preference shares can be made:

Out of profits available for dividend
From the issue of new shares
Partially from available profits and partially from issue of new shares

All are correct

Monthly pension on retirement is
Exempted Income

Income from other sources
Taxable Income under salary head

Casual income

Which of the following is a form of proxemics communication?
Bodily contact

Eye contact

F usteor

wffrt fed Bt et 3 .
STl 3Tx & Rig

Tt 33T ¥ farg

(3RUT IERT B o) T (wurdt sE=E ¥ ) <t
T A P T

Ty fagur; fauoH oo T e g el wifa R
Twipd fauor

IS STREE fagur

ey st fagor

w+ft wet B

IWIMYBR o IR w0 & eifda §
JEER JEY

TR 0§y

Froig wey

TR wE g

FIOT SRIFET 2013 B URT 55 & IR AR =it &1 =Ne & o Feba 3

YT & o Suersy wml &

T 31 & ffe g

ST Juesy Tl F F T oiwre: A o & Fnfa @
il wEt €

gy W T AR U B 8-
DT 3

ST YA | S

9+ e § X I o
HTHIRD T

frefafaa o S S SR o1 URey § ?
A T



Q.No: 106

A

B
C
D

Q.No: 107

O 0w

Q.No: 108

O 0 @ »

o 0o w >» O

o

Appearance

Surrounding

Export - Import (EXIM) bank of India was set up on.
January 1, 1982

April 1, 1991

March 1, 1970

July 1, 1987

Primary focus of Management by Exception revolves around -
Organising

Staffing

Directing

Controlling

X and Y are partners and sharing profits - losses in the ratio of 4:3. They admit Z in partnership giving 1/3"
share in profits/losses. If Z receives his share from X and Y in equal proportion, the share of Y in profits/loses
in future will be -

11/42
17/42
14/42
28/42

.No: 109 The first industrial policy of independent India was announced in

1957
2004
1947
1948

.No: 110 The system of note issue adopted by RBI is

.No: 111

Proportional reserve method
Minimum reserve method
Partly Proportional reserve method and Partly Minimum reserve method

None of these

Break Even Point (BEP) is a point where -

Profits and losses are equal

T ST
LIECRY

yRd 3mard afa (ofee) S B /I ----- AT
a1, 1982

3fd 1, 1991

U 1, 1970

s 1, 1987

AT GRT Teel T MU Thd fhad IRY SR ghaT € 2
TS
It
ECRIE]
ferizor

TR YT 1S WIDER B T 4:3 & ST A 1 BT Sied & 9 Ve &) 1/3 B 23 gu adierdt & e o<a § Al & oA
o uaw quT a1 TRISR RIS U Bl § o Hfws § oy g1+ & a1 o & -

11/42

17/42

14/42

28/42

WA YR Bt 7UH S i 3 don g
1957
2004
1947
1948

YR Roid S gRT e fifa at sl soemd 78 §:
ST He oIt

G g JuTTel

ST TIPS O YOS TUT 3fR: ATH Hag YOIt
T A B T

e fag 98 § we---
IH TG 1 T g b RN o &



o

.No: 112
.No: 113

.No: 114

Q.No: 115

A

B
C
D

Q.No: 116

o 0 w >

No profit no loss
Profits are higher than losses

Losses are higher than profits

Accounting standards in India are issued by___
Central Government

State Government

The Institute of Chartered Accountants of India
RBI

Advertising expenses done on launching of a new product are treated as_
Capital Expenditure

Revenue Expenditure

Deferred Revenue Expenditure

None of these

Which is not the element of marketing mix?
Product

Segmentation

Price

Promotion

If original cost of a machine is Rs.1,26,000 and its scrap value is Rs.6000. what will be the amount of

depreciation for II yr by using WDV method____
Rs. 10,800
Rs. 11,340
Rs. 15,000
Rs. 14,000

Interest on loan be allowed to partners where there is no express agreement between partners to this effect

and also partnership deed does not have any provision regarding this -
No interest will be allowed

Allowed Interest @ 12 % per annum

Allowed Interest @ 06% per annum

None of these

= A1 g 3 A g1
Y, B @ et €1 @
B, 91 @ ot Bt @

YRA & A A SR bl S §-
= WAR

T WHR

YR TS AWHR TR

YR ford ¥

T 3G & IR § T 7 A T oo o wmey o §
ol =g

SN &

SRIRTT 3T Y

T4 A IS T

P I1 fraur frsor &1 d@ T8 & 2
Jdlg
fayefteor

qw
AT

I T WA BT JE AT 1,26,000 F TU1 SHHT AR Y 6000 & o srufifad 1 qed fftr oam w i af &t

B F R Eft-
10,800 &
11,340 &
15,000 &
14,000 &

e YR & § 3T 3M<G ST IS WY JHT 7 & JUT TR Forg 7 1t 39 T T 315 urae @ = 8 oY, Figar! &f

3% gRT I T B0 W AT fgar Sem:
PI$ saTe Wert & ghm

12 yfoera aiffes R & st far smem
06 Ufa=Ta a1 o | =aTe fam smem
T A P T



Q.No: 117 | Which of the following is not an essential feature of a company? Fufafad # ¥ S T H BT ATRTS T T8 82
A Separate legal entity qus Ut Af&Ta

B Perpetual succession Jfafeda SRR

C Common seal ardgs

Q.No: 118

Calculate the BEP in units from the following figures_
Selling price — Rs. 15/unit

Variable cost - Rs. 8/unit

Fixed cost - Rs.14,000

Unit produced - 6000

ofifed THe! $1 3TN aR sHRd! ¥ IHiaws f§g 3t T S ‘
epd 7w 15 & R soT1¢, URad-=ia anTd 8 = Ufd 378, Wl @ 14000 F, IdIed SH18al - 6000

1500

1500

C 2500 2500
3000 3000
Q.No: 119 Which of the following goods is likely to have perfectly inelastic demand? Frofoiea # f5e ara &) A gofa: SaeeER 8 I &
A Luxury car SRTHGAD PR
C Cabbage gt
Sugar EiEif
Q.No: 120 In the short run, when the output of a firm increases, its average fixed cost - SUHT B, 9 BH $T IAIE §gal § ot ST fRRR AT

A

Increases

Remains constant

Ted &

H

Rr @

First Declines then starts rising

Ted AR @ a1g & Se1 IR Rt

Q.No: 121 In which form of market structure a firm has a very large degree of control over price fixation of a product OIR AT &b D S URST H TP BH 3 IdUE P T FuRor w siftrman e wed §

B Perfect competition ot wferifirar

C Monopolistic competition mﬁ]amm wfogyf

D Oligopoly SEIRISR

Q.No: 122 The concept of liberalization, privatization and globalization was introduced first in Indian economy in the year Rt arfemaen & Serie, e @ B B TR TYT TR Y - ﬁ?ﬂ"laﬁ RS
A 1984 1984

C 1995 1995




| D 2000 | 2000

Q.No: 123 Out of following which is not the basis of market segmentation ? el & ¥ P 1 aoR AHiETER BT SR T8 &
A Demographic Segmentation wHifpe fAufdasor

B Benefit saught Segmentation sfeda ey fauferesor

C Life style segmentation Siael fyufaaeor

Q.No: 124 Penetration pricing is ____ TR o A AyRor g -

A Initial high price TR 39 g

B Initial fair price RfA® 3t 7w

D None of these T q PIE T8I

Q.No: 125 The main patron of international trade is aﬁ@qwmww&m% -
A IMF RIS gz Hw

B World Bank fazg §%

D IDA S=RIgH faem wg

Q.No: 126 Consumer Protection Act in India was enacted in ___ HRA T FUHIRT W& s uid e mar:
A 1982 1982
C 1992 1992
D 2000 2000
Q.No: 127 Total Revenue = P 3NH =
Price x Income Tl X 3
Income x Quantity ST X AT
None of these T oI T8
Q.No: 128 Stock Exchange is an example of - W AT g, TP IR &
Unregulated market SFH eR
Spot market Wie R
Unorganized market SRATEE TR




Q.No: 129 Which of the following is not condition of perfect competition

A

B
C
D

O 0o w p O

.No: 130

.No: 131

.No: 132

.No: 133

.No: 134

A large number of firms
Perfect mobility of factors
Price is determined by industry not by individual firm

Individual seller/buyer can influence price in the market

The most important function of an entrepreneuristo
Innovation

Financing

Earn Profit

All of these

Oligopoly Competition is charecterised by

A few dominant firms and substantial barriers to entry
A few large firms and no entry barriers

A large number of small firms and no entry barriers

One dominant firm and low entry barriers

Sample is the representative of ___ .
Universe

Investigator

Data

None of these

The SEBI, which was accorded the statutory status in the year 1992, acts as the regulator of -
The stock exchanges which came in to being in and after 1992

The stock exchanges which are known as Over the Counter Exchange of India

All the stock exchanges of the country irrespective of their dates of coming in to being

None of the these

Which one of the following is not the form of merger of company?
Horizontal

Vertical

Diagonal

Conglomerate

frafefaa & & St gof ufedifrar 3t gzn/<d 72 &

ol B 9 w=n

et @t guf afasiterar

e 1 frufeor IEhT g1 g 8 =1 % afdera wd grr
fGaTa faghar/hdl SToR & Yo &Y YT & Fdbdl &

T A6 1 alftd "eayqy S &
Tayacd

IEEEERE]

GIUEES

it wed @

SreTfieR wfergef o1 weor &

PO TYTTA BH TUT FI TR Heeaqul aremd
FO I3 BH TYUT HIE YI arem &

3P B B wf auT B yA anen &
TS YY@ITet W qur <A YA qrem

et fafAfy g &
THT BT
SRSl BT
qHP BT

T4 & P T

It B 1992 # JutfAes WY yeH fbar T o1 | Fgauesdl & TU § B bRl §

Ty fuldr st af 1992 a1 59F a1g 3ifRra # g &

whY fquforat st URa & iR g BdeR fAuldm & w0 § S oI @
Xt Tt Why fAuldRT 39 919 @71 o= W A1 7% 3 9 oifia & ang

T A BIE T

frofafed & ¥ 58 sut & Sfafems &1 @y 76t 9T S -
quaa
e ad
fods



Positive perfect correlation is

0 1]

None of these T q P T8

Tools for collecting primary data is/are UTUfis gHB! B Yhferd B & IJUBR &
Interview method e fafy

Observation method Saaed faf

Questionnaire method wyTaat fafy

Contingency approach of leadership was developed by

Likert Riwd
Blanchard TTHIE

Harsay &

Market concept is fquoR srquron 3-

Production oriented

Sales oriented

Seller oriented

fagear gt

“Marketing is delivery of standard of living" is the definition of marketing given by.

U Site TR e Sl 87 AU @) T a8, S &--- §RT 4 T 8-

Philip Kotler fpferg dlear

William J.Stanton fafergw &, w=eq
Hansen T

The objectives of financial management is/are _ foxita us & G%‘\’q %/%I
Profit Maximization Y ftrauesor
Wealth Maximization YI(g) Sifpaasr

None of these




Q.No: 141
A

O 0O W

.No: 142
.No: 143
.No: 144

Q.No: 145
A

B
C
D

Q.No: 146

O 0w

The NABARD was established in the year
1970
1990
1982
1947

Net working capital is equal to-

Excess of total assets over total liabilities
Excess of current assets over current liabilities
Aggregate current assets of the firm

Excess of total assets over total current liabilities

The immediate product of job analysis is
Job Evaluation

Job description

Job specification

Job Enrichment

Which of the following is not considered modern method of performance appraisal

Classification method
Behaviorally Anchored Rank Scale
360 Degree performance appraisal

Human Resource accounting method

Two factor theory of motivation was propounded by ___
Herzberg

Mcgregor

William Ouchi

A.H.Maslow

Environmental Protection Act in India was enacted in the year
1956
1976
1982
1986

TS B -G q IR
1970
1990
1982
1947

Y Friia def sRmeR el 3-

pa Rl &1 a gl W snfireg
Fd TANMRAT BT $o TeGIAd] U SR
o $ oo gaamimal &1 AR

o ufRawfrEl &1 $a gdaeiiial uR e

ST RAITAW T ATebIfer Iadre 3 :
i geaid

P1d faazor

w1 fafkmtewor

BTd FSEr

frofafed & ¥ o @ e geaiea o snyfe ity 78 o omh:
aiffeor fafy

et Tivs ¥ wha

360 &t Freare geaiea

[T ST daie fafy

SHfRY & fees Rigia o1 e foar
gorart

AFFR

faferaw smedt

T. T9. At

URd H yafaRor WRewr sfdfrgm ad & oiid forar L
1956
1976
1982
1986



Q.No: 147 The number of elements included in development of marketing mix for services are
A 04
05
06
07

O 0w

.No: 148 Out of following a new partner could be admitted in a partnership with consent of -

All existing partners

Q

A

B Any of the partner in the firm
C Majority of partners

D

2/3rd majority of partners

Q.No: 149 Identity the correct one of the following

A and agriculture.
NABARD was set up in order to provide credit to poorer section of rural India.
C NABARD was set up in order to assist banks specially meant to surve rural India.
D All are correct
Q.No: 150 Which of the followings reasons was not responsbile for the establishment of IMF?
A To achive the exchange rate stability.
B To assist the member contries in the postwar reconstruction.
C To help the member contries to finace short term balance of payment deficit.
D All are correct

.No: 151 Recruitment selection.

Succeeds

Q
A
B Precedes
C Simultaneous
D

None of these

.No: 152 Which of the following is not a direct tax?

Income Tax

Q
A
B Wealth Tax
C Gift Tax
D

Production Tax

NABARD was set up in order to provide credit for the promotion of the activities like rural crafts

Jareii & forg fRyuuF fiyor darR A # wiiferd fbe oM ard dwl @t 9 §:
04
05
06
07

% WER B 8 ol § rue! et § T 9ReRr S i i o g § 2
adaE qIft AgeRt

o & fopadt oft WISl @t

HISIGRI & 9gHd 31

wTEeR| ¥ gi-foeTé agwa Bt

1 7 3 96} Py Fasy -
ATETE F RATTAT Ifior Riew au1 Y Sl $) gerar 37 F R I yeq a1 8 3 g o |

A1aTE F RATeAT gt yRa ® fdaam oof & aferal @ ara gfaer gem w3 3g @t s &t
ATETE P RITTAT [3=va: arfior YR & Aa1 $I ¥ $TH B AT B! P W B & g 1 a7 o |
TR T |

RIS HETHIY P RIGT & T IcRard RO § Fe § § S A1 HROT 6 Sf1ef -
fafrwa aR 9t fRRar Wity 39 |

IR QX P1 Y &SI YA § WeTadT og |

Hew 3= Y @Y srafy F Y-y e A 791 F R |

aftwdi g

ol =g 3 ufeea 71
qyTaadt

ydadf

Tt

1§ P T

Fafied & § o 1 e R TE e ?
T

TP

JUER P

I TR



Q.No: 153 If both the regression coefficient of two series are negative , the coefficient of correlation should be

A

B
C
D

Q.No: 154

O 0 W >

Q.No: 155 Which of the following is not covered by Intellectual Property Right

A

B
C
D

Q.No: 156

O 0 ®

Q.No: 157 Industrial (Development and Regulations) Act was enacted in the year -

A

B
C
D

Positive
Negative
Zero

None of the these

Underwriting commission is classified as
Capital Expenditure

Capital loss

Deferred Revenue Expenditure

Capitalized Expenditure

Patents and Design
Trademarks and Copy rights
Labour industrial Relations

All are correct

In the assessment of Income Tax of any assesses, which of the following is relevant

Income Tax Act 1961
Income Tax Act 1962
Finance Act of concerned assessment year

All are correct

1951
1956
1977
1991

Q.No: 158 Technique of decision of making is

A
B
C

Review of his own experience
Brain storming system

Nominal grouping method

Tfe &1 THE TSt & YNUTH U HUTHS 8l af 374 qeuas giT -
YATHAD

BUTHS

T

T A P T

sifniio s arffed fam s &
YeiTa =g

YeiTa gt

RIFTT 3 &

Yo =g

frofafed & @ S 1 ve diftes ToeT SieR & Sfdid et ofrar
TP d fEeme

=R fog wd Prikrge

o NI Heiy

i et 8

Fedl & g FuRo # fafifad § feae Y g 2
Sy ST 1961

e Fraw Suf s 1962

Safta s Frufor af @1 i st

woft wdh &

URAT Menfie (e wd o) sififay a8 & any faar
1951
1956
1977
1991

Fifee # dpiies & -

WY F gual R AR
a4 Wit fafa

Tidfae Tqgieor faftr



D All of the these it Tt @

Q.No: 159 Long term solvency is indicated by S B BT e & BT T -

A Asset Liability Ratio wHuftr SR srguTa

B Debt Equity Ratio BUT JHAT SUTd

C Interest Coverage Ratio TSl JRET Surd

D All are correct it ?T?f %

Q.No: 160 Cash Equivalent means AHs T T MR §

A Cash JAws

B Bank ¥®

C Cash and Bank APs @ 95

D Highly liquid investment Ty e fafa

Q.No: 161 The definition of statistics "Statistics is the science of estimates and probabilities" is given by - Tifeget Bt ufeHTo TRy SgHM! Ud TRTaTelt &1 fam B, A grr < R 81

A Bowley EIRG

B Boddington qIfETeT

C Roberts m{'ﬂ

D Fisher frrR

Q.No: 162  Which of the following is more relevant to primary data? 9 & 3 o9 T urufye e ¥ sifie Twiid §

A More reliable 3iftre fayaia

B Quicker to obtain =iy

C Available to individuals and small organizations foroft safdT wd Bt Wre- & Iuasy

D All are correct Tt wEt @

Q.No: 163 Which of the following is/are feature(s) of equity share capital fofiiad & B9 3 d&0r Tadr 3 Oof 3 Tefia € /7

A Dividend is payable only if company has earned profit i 9t 37 @ afe suet @y aifefa welt &
Dividend become payable only if such payment has been recommended by board of directors and . ; o B I o 9t e TR F o

B passed by the Annual General Meeting of Company i &9 € E o R R @t |r A a ﬁ %
Both, Dividend is payable only if company has earned profit and Dividend become payable only if F (aryir Huht T Feeht ATHTRT JaTe® "usd TR iR

(o] such payment has been recommended by board of director and passed by the Annual General Meet miﬁ mlﬁ;mmagswq?w 7 ngT:’ﬁ T};%) %) aur( @ Eﬁ o LR
up of Company

D None of these Sﬂ'ﬁ J ?ﬁﬁ &

Q.No: 164 TRIPS(Trade Related Intelleatual Property Rights) and TRIMS(Trade Related Investment Measures) are EUH(BJTQ'R Teieht AP T SRR )HQHEUH (IR Taef) Ry grog ) FRA S -

associated with

A Preston Proposal U yE 9§



Cheltiah Committee

C

Hifeeran FAd |

Rangrajan Committee

TR $AS F

Q.No: 165 'A' group items in ABC system of inventory control are

el e & vl Reen # T o # anelt @t Fefafed 9¢ wwfi g g-

Large number of items with large rupee investment S Yoy arelt siftre we
Large number of items with small money investment T Feaard! siftre w9
Very high quality items g = UG el WY

Q.No: 166 Tax management is done: FR-yEY S o §

B After Tax planning - & a1g

C Middle of Tax planning -Fraea & 7

D Never Hft Tt

Q.No: 167 Which of the following is/are the stakeholder of a company?

Fefafad # dut & RafReRt (R dieR) oiF 82

A Employees HHa
B Suppliers Smyfeferar
C Customers PIEED

Q.No: 168 Which of the following is/are not sales promotion tool(s)?

R1 1 2 3 4 5

B Premium Wty
C Coupons U
D Contests yfaafRan
If the ranks of two attributes in a sample are as follows afg & ‘IUff % el & 3711(335) o TR I &

R1 1 2 3 4 5

D None of these

Q.No: 169
R2 5 4 3 2 1
R2 5 4 3 2 1 BHT .
Then the rank correlation between the two will be &l & 7 A E
A (1] V]
B +1 +1




Q.No: 170  Globalization enhances the international flow of AUSTHRU T FU I SRIP vars & e Hral §

A Labour 49

B Capital ‘Fﬁ

C Technology LEZICd)

D All are correct |t wdt ¥

Under Garner vs Murray rule, in the event of dissolution of a partnership firm, solvent partner will have to MR Td 1R 00 & SOR UeigRt B & faged oF gxn # 01 My emdyR IEeR, e akger # $i o e s

Q:No: 171 Jp o re the deficiency of insolvent partner in o g T |

A Profit Sharing Ratio ATH YA SIguTd

B Adjusted Capital Ratio JHRNTRT Yol SruTd

c Sacrificing Ratio N ST

D None of these T8 A HIg T

Q.No: 172 Which if the following accounting principles differentiates between owner and management g & ¥ B9 T AR Riegid Wi Ud TEY $ 3R B eiRid SR 8
A Business Entity IS 3if&Ia

B Going Concern EIGEENID)

C Dual Aspect e U

D None of these T8 BIg G

Q.No: 173 | For a normal distribution T faaRor & foag

A Mean > Mode > median HH > dgdd > HHDT
B Mean < Median < Mode HIH < HYDT < dgoih
C Mean > Median > Mode HIH > HHAPT > Fgoid
D Mean = Mode = Median HIH = ggad = HHADT
Q.No: 174 Which are the following, as per Hergber’s motivation hygiene theory, is a motivating factor ET:W‘T% SR Wy Rigid &1 SIfiR® da %
A Job Security P TgRam

B Company Policy Sy @Y i

c Work itself P ¥

D Interpersonal Relationship TRWRS TEY

Q.No: 175 | Current ratio is EIGRERLIGE

A Balance sheet Ratio 3nffe forgt 3urd

B Profit & Loss account Ratio ATH I @I U
C Combined Ratio faf3ra argura

D Income Ratio ST SJUTd



Q.No: 176  Which of the following is correct? FaRfAd A A PT TP TI© ?

A Fair wage is higher than living wage Sfa ﬂﬂ@'ﬁ Sha= fyafes ﬂﬂ@ ¥ siftres gt @

B Living wage is higher than fair wage St frafe aoigd 3fa augd & oftre et &

C Fair wages , living wages and minimum wages are the same IR worgt , Sfia Frafe aeigd aur geaw gogd T|E gkt @
D None of the these TR ?rﬁ'{f B

Q.No: 177 The phrase 'Payment by results' is more close to "YU T T W (ARUTHIGER YFTAH) ------ F offde Foe g
A Time rate wages TG &R HIgY

B Tncentives IATEHAT A It aoigdt

C Producttivity linked wages TR

D All are correct [l Wt €1

Q.No: 178 Machine is example of TR IETERT B

A Consumer goods IYIFT 91 BT

B Capital goods YSiTd A1e &1

C Intermediary goods qreafie A a1

D None of these T aﬁ’é e

Q.No: 179 What will be the assessment year of the financial year 2017-18 facitg af 2017-18 &1 S PR FufRor aef g
A 2017-18 2017-18

B 2016-17 2016-17

C 2018-19 2018-19

D None of these T q PIg T8

Q.No: 180 Which of the following measures is not adopted by RBI for controlling credit in India? URd A 9@ g0 axa IHa fsia So gR1 Fafifed § @ e Ao [t &1 s T faear S -
A Cash Deposit Ratio TG ST S{UTd

B Capital Adequacy Ratio ot wafear srura

C Cash Reserve Ratio Euckal SruTd

D Statutory Liquidity Ratio AUT® TRaar SfUTd

Q.No: 181 Retrenchment is WE@T@ =TT B

A A denial of employment for a short period lﬁ% irsiikcd ﬁn: AR | |1 HAT

B A denial of employment for a long period TR Y F T AR A A1 HRAT

[ A denial of employment forever [eq P g AR A TA1 BT



|D |None of these |3=|ﬂﬁﬁ§=lﬁ
Q.No: 182 Lender of the last resort is 3iferm FHorera € -
NABARD EIEIS)
SBI e 9@ 3w sfear
Local money lenders R AgeR

Q.No: 183

Which of the following organizations is associated with the Micro Finance Regulation Authority

1 & 3 B9 1 e geA foxig e oiftreeor § weEfa @

A

SIDBI

frsdt

C

RBI IR &t s
IDBI 3rs St &t o
Q.No: 184 Scheduled banks are SR ¥ §
A Nationalised Riiecal
B Included in the IV schedule of RBI frord S et gt A Tl

D None of these T | I e

Q.No: 185 RBI was established in Rord d = forar

B 1949 1949

C 1947 1947

D 1969 1969

Q.No: 186 The competition Act was enforced in the year uferef siftifom af & @y gar -
A 2000 2000

B 2001 2001

C 2003 2003

Q.No: 187 Which one is not related with legal environment of business in India? URA & TaU™ & IS araraRer § g § F B9 Seftd T R -
A MRTP THIR.A G

B FERA BT

C Factories Act 1948 PREF HffEw 1948




Q.No: 188 Which one of the following replaced MRTP?

A

O 0 w

.No: 189

.No: 190

.No: 191

Competition Act
FRBM Act

FEMA

FERA

A sound economic policy of any government ordinarily entails in it
Welfare of people

Growth of GDP and national income etc

Fair distribution of wealth

All of these

The dividend pay out ratio can be determined by dividing dividend per share by

Earning per share
Number of equity shares
Market value per share

Book value per share

Which of the following is not a ratio for analysis of profitability?
Operating ratio

Net Profit ratio

Acid test ratio

None of these

Q.No: 192 The statement of changes in financial position shows

A

B
C
D

Q.No: 193 After the reissue of forfeited shares the balance of share fortifies account will be transferred to

A
B
C

Sources and uses of funds
Assets and Liabilities
Income and Expenses

None of these

Share capital account
Capital reserve account

General reserve account

g 9 e . em. &R, &1 ufoeimo faar?
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None of these

Which one of the following is not a method of valuation of shares? g & P ot F gt B Al TR 2




Q.No: 200
A

B
C
D

Centralization

Planning is an activity which is always

Confines to top management

Pervasive to all levels

Carried on only by promoters and appointed advisors

Performed jointly by management and workers representatives
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